1.1
1.1.1
/
t/
2,638
1,006
3,644
@

868t/

1,006t/



=< 507.8732ha>=<1.71t/ha 868 t/
2009
NEDO
=< 1,257.347Tkm>0.8t/km 1,006 t/
2009
18
&)
11
1-1 1-2
8 3
9
9000




1-1 21
No. 47 83
No.1 60 2| 1,801
No.2 60 90 4| 3,544
No.3 90 120 0| 1,026
No.4 60 188 34
No.5 60 90 116 27
No.6 90 120 18 7
No.7 60 90 174
No.8 60cm 120 57 534
No.9 60cm 120 3 0
No.10 100 200 16 698
No.11 200 300 26 183
No.12 120cm 180 7 0
No.13 120 150 0 423
No.14 150 180 0 200
— — 527 8,651
()
4,000
3,500
3,000
2,500 | 21 4 7
2,000 [ | 21 8 3 [
1,500 A
1,000 A
500 - J
0 - L = _I — a __ I | |
- N ™M ¥ N © ~ 0O o o «H o ™ <
2 2 2 2 2 2 2 2 =2 § TZ:' § § TZ:'
1-1
1-2 21




®

890 882
1-3
m2 m2 m2
514 822,417 514 822,417
48| 1,019,992 10,926 49| 1,030,918
3 233,122 3 233,122
3 479,489 3 479,489
1 106,914 1 106,914
3 95,058 3 95,058
180| 2,460,763 180| 2,460,763
752| 5,217,755 10,926 753| 5,228,681
22
21
2
1-4
8




1-4



23

1-5

649-8280

676-1234

JR 16 240

649-8900

70

678-4616

675-0227

644-0151




@

1-6

240

t/ 1
1,500
100
100 —
30
2,000 —
4 12 3
1 3 7




O

1-7
170 8
129.9 H20
3
m3/ 352.7 H21 949 HO1

1 2
3 1-9
1-8
5cm
23 24t
5cm




()

150

120

90

60

30

1-8

()

10

—al_

11

12

21

150

120

90

W 2008
= 2009

60




©

1-10

320

425.8t/

80ms3

80ms3

80
70
60
50
40
30
20
10

1-11

22 4 12
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(D

1-12

18.2t/

©)

21

1-13

®

2,600t/

1-14

1-14

426

t/

2,000

t/

159

t/

35

t/

18

t/

0 2

t/

2,638

t/

0.45t/m3
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©)

1-15
e 1271-17 | e 893-6
Y 6-8-7 ) 3272-1
e ® 4166-1
1778-1
e 216-2
48 12 13 12 11 21
1,000 1,000
68 5
13 39
13 40
13 206
13 207
() ()
1-16
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HrERA A TS
[gAe]
1L
AR E LS
(37 &k T~ 7]

Wb E R TR (18 55 I7)

[ F~=2FEOBEE LTHIH]

WD & K TGN
INA A AFE BB

A

1-16
22 1-17 1-18
10 3,315m3/ 4,5 1,000 m?/
600t/
3
600t/
1-19
1-17 22

4 5 6 7 8 9
1,014m3 1,023 m3 1,598 m3 1,870 m3 1,836 m3 1,870 m3

10 11 12 1 2 3
3,315 m3 2,420 m3 1,444 m3 1,404 m3 1,700 m3 1,900 m3 | 21,394 m3

- 138 -




()
3,500

3,000

2,500

2,000
1,500
1,000

500 -

1-18 22

1-19

1,800=%200 kcal/kg

5 50mm

50%

7,200t/

4,320t/

- 14 -




1-20

10t

t/ t/ Md/kg aJ/ MWh
2,638 7.8 19,896 1,579
4,320
1,006
3,644 4,320 19,896 1,579
50
1,257.347Tkm>=0.8t/km 1,006 t/
4t 9 /kg

- 15 -




1.1.2

€Y
18,631ha 7,841ha 42.1
1-21
ha ha
18,631 7,841 42.1
21
1. 21 1
42.1%
57.9%
1-22
15.1 84.9
82.8
1-23
ha 90 79 6,489 6,658 1,183 7,841
1.1% 1.0% 82.8% 84.9% 15.1% 100.0%
48.6 25.7

25.7

- 16 -




1-24

ha | 3,783| 2,293 32| 1,458 2,000 318 623| 1,059| 2,002| 1,651 21 349 7,785
48.6%| 29.5%| 0.4%| 18.7%|25.7%| 4.1%| 8.0%| 13.6%| 25.7%| 21.2%| 0.0%| 4.5%| 100%
20
1.
2. 2005
6,508ha 97.8
59.6 38.1
1-25
ha 3,922 2l 3,924 771 4,001
ha 46 2 2,459 2,461| 2,507
T 3,970 2,538] 6,508 27 41 81 122[ 6,658
59.6% 38.1%| 97.8%| 0.4% 0.6%| 1.2%| 1.8%| 100%
21
1.
2 21 4 1
1-26
ha 942 187 54 1,183
79.6% 15.8% 4.6% 100.0%
3

- 17 -




1-27

5.63
8.03 6.37
18.28
ha 31.94 6.37

@

1,200ha

1-28

1,127ha 933ha 194ha
3,414t/ 24t/

- 18 -



1-29

ha m3 m3/ t/ Md/kg Gd/
933 282 5 3,414 7.8 26,630
194 43 0.03 24 7.8 190
1,127 326 3,438 26,820
6,658ha 3,970ha 2,538ha
94,720t/ 25,900t/
1-30
ha m3 m3/ t/ Md/kg Gd/
3,970 1,303 148 94,720 7.8 738,820
2,638 301 35 25,900 7.8 202,020
149 0 0 0 7.8 0
6,658 1,604 183 120,620 940,840
967,660Gd/
1-31
ha m3 m3/ t/ Gd/
1,127 326 5 3,438 26,820
6,658 1,604 183 120,620 940,840
7,785 1,930 188 124,058 967,660

®

@
3
1,700m3/

- 19 -




1-32

H19 H20 H21
ha 26.4 22.4 12.1 20.3
m? 2,850 1,162 1,075 1,696
20
217t/
1-33
t/ 217
t/ 1,085
ms3/ 1,696
1.WB50 0.64
2. 20
()
3
1,800m3
1-34
H19 H20 H21
ha 27.3 22.4 12.1 20.6
ms3 3,082 1,162 1,075 1,773
©
1-35
H19 H20 H21
ha 0.9 0.9
m? 232 232
(d
80
205t/

- 20 -




1-36

t/ 205
t/ 257
3/ 2,005
0.20
0.80
1.WB50 0.64
2. 20
)
4 9 16 45
40 9 36 40 809ha
1-37
ha m3 t ha m*/ha
4 29 3 1,634 89.39
5 114 13 8,604 116.42
6 100 15 9,564 149.80
7 218 36 23,146 166.23
8 184 36 22,751 193.10
9 809 172 109,859 212.16
1,453 274 175,457 927.11
242 46 29,243 154.52
21
1.WB50 0.64

- 91 -



m3 ha
200 1,400
( m3) 472, 1 1,200
150 (ha) 1,000
800
100 809
600
400
50 218
114 100 _pe 36 200
320 it —il 184
0 : 15 : 0
4 5 6 7 8 9
1-38
@)
3
5
1-39
H17 H18 H19 H20 H21
78 53 46 22 30 46 30%
60 63 106 55 71 20%
6 15 13 15 11 12 25%
ha 144 131 165 92 41 129
17 21
1. H21
5 130ha
100ha
(b)
4
9

- 99 -




2,656t/ 531t/

1-40
t/ 637
t/ 3,185
3/ 4,978
4 9 ha m3/ha 154.5 /
al/ 1293
25% (3
20%
1.WB50 0.64
©
3
1,570m3
1-41
H19 H20 H21
ha 6.7 7.7 3.4 5.9
m3 533 3,240 926 1,566
)
80
200t/
1-42
t/ 160
t/ 200
m3/ 1,566
0.20
0.80
1.WB50 0.64
2 20

- 23 -



1-43

t/ t/ t/ Gd/ G/ MWHh/
3,186 0 637 7.8 3,480 280
200 0 160 7.8 880 70
1,085 0 217 7.8 1,180 90
257 0 205 7.8 130 10
4,501 0 1,219 6,660 530
20 80
@)
1-44
m m m ha m/ha
38,389 36,534 1,855 6,658 5.5
21
21 4
)

- 24 -




©

5ha

1-45

100 150m 100 150m
10m
20m 50m
100m
1-46
100 120m 6 7,000 /m3
150m 8,000 /m3
200m 9,000 /m3
12,000 15,000 /m3
20,000 /m3
23 10 50
23
lha 10m3

- 25 -
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1-47

(D

200m

1-48
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1.1.3

4
1-49
m/ha A 5.50
ha/ B 129
m C=A*B 709
D 200
ha E=C*D*2/10,000 28
% F=E/B 22.0%
ha m3/ha G 155
m3 H=E*G 4,380
I 20.0%
m3/ J=H*I 876
K 0.64
t L=J*K 561
M 40.0%
t N=L*M 224

- 27 -
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1.2

1.2.1

1-51

MAX.581kW/

80

85

85

55 WB

10 WB

20 WB
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10kwW 100kw 200kW 300kwW 500kwW 1,000kW 10MW 100MwW

30kW 100kw 150 kW 500kW 100MW

100kW  500kW 1,000 kw  10MW

100kw  1,000kW

_________
100 W 500 W 2 500_W. 1000 W ol

50 W 80 W

1-52
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1-53

10 30kW
30 80kW

80k /

50 100kW

100kW

100kW
50 100kW

10 50kW

10 30kW
50 100kW

100 500 kW

10 100kW
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1.2.2

€Y
9
202
75
37
13
21
@
397
110
27.7
5,000Gd/

397
1,500kL,
37
8
1-54
GJ/

100,000 8
50,000 100,000 14
30,000 50,000 4
10,000 30,000 21
5,000 10,000 13

1 5,000 30

20
110

- 32 -

49

100,000Gd/



35

30
30
25 o
20
15 13 14
10 I I 8
: t
5
0 1 1 1 . 1 1
S S S S S y
H(«,\Q ,\9\0 ,)’Q\ O)Q\Q QQ\Q QQQ
> N N N A
S S $$ S§
Y :\9‘ 0)0‘ ")Q‘Q
Gl
1-55
110
39.3 t/ 32.7
t/ 12.4 t/
1-56
A LP
kL/ kL/ m3/ Nm3/ MWh/ Td/ kL/ t/ t/ t/
937 601 1,625 16,5621 329,374 3,929| 102,851 393 327 214
A LP
5,000Gd/
100,000Gd/ 3

- 33 -




1-57

Gd/
100,000 2
50,000 100,000 3
30,000 50,000 6
10,000 30,000 11
5,000 10,000 6
1 5,000 49
0 13
20
110
0
60
i 49
40
30
20 13 11
10 6 6 3 5
0
1-58
110
9.6 t/ 8.0 t/
52 t/
1-59
A LP
KL/ KL/ m?/ Nm?/ TJ/ kL/ t/ t/ t/
937 601 1,625 16,521 965| 25,250 96 80 52
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16
45 y
1-60
; 17 15.5%
. 45 40.9%
: 31 98.9%
- 17 15.5%
il'-_--'_".'r,,-.ﬁ ‘T"v|'j
4 HS ST (7]
1. &3
2. TELh [45
1-61
2.
COs2
1-62

1. :

3

9

4, :

5. O

Other :
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LA A—JFP v THENSMNS
LRI EEL TVS05
3. HhERIR RE (AL - B bR
4 HTAOERERNIBETESNS
.8 - BERRICEIDONS

Other
0 2 4 ]
1-63
50
1-64
1. 73
2. 46
3. A7
4, 31
5. 53
6. 52
7. 53
8. 36
9. 64
Other 11
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1 BEOERREES NS

2 MBEBOHES D SR

I EECHEPEYNEDLEESNBS
4. BEMHGE

5 ESEENICEETESMOE

6. EAH RIS TS EVGED

7. SEEER UL A

BB AN

9. AN R RO

Other
15 30 45 60 75
1-65
46
1-66
1.3 4
2.5 1
.1
3.10 3
4 PR 1
5. 46
Other 55
1
110
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1LIFLAICHABBIERTZ..
2BFLIAICHABRAYERTS... |
LNFLIAICHABBRNEIRT... |
4 BRDEIRICH S TREPPR..
5EACIIEFRET, BAICEEIEL
Other

0 11 22 33 44 5

1-67

51
27

1-68

27

Other 28

110

1.5% @BERHLTIE) |
2. LIgTHEES L TLEDS, Do |
3L RELTHEVEBATIS |
s 3rmo, gL

5. 25T 305 Y 35

Other |
0 10 70 30 40 50 GO

1-69
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51 49

PR

1-70

Co,

51.0%

49.0%

1. Hl=oTuLe [62

1-71 €0,

2 HIoEinoTE (50

PR

-39 -




PR

1.2.3
€Y

PR

1-72

551-1

596-3

2030

2726-8

1,160kW 2 349kW 2 453kW 186kW 1,089kW
A
72,000m?/ 43,980m3/ 63,0001/ 74,434m3/
300 72 364 365
12 7 19 24 12 7 19 24
21 8 22 5
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@

1-73

8:30 21:00
11:00 15:00
10:00 20:00

9:00

30 31 32
1 8m3
10:00 10:30

21

67 /

300

42 40

150 /

1-74
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(b

1-75

10:00 21:00
10:00 16:00
9:00 22:00

10:00 22:00

74
84 60

6:00 9:00
30.5

350t

ON

1-76
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21

21

DVD

22

23
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©

1-77
12:30 22:00
5
2 3 [/ 10/ 3/
15
12:30 16:00 16:00
15:00 22:00 6:30 9:00
15:00 16:00 20:00

17:00 22:00
171

1-78
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(D

1-79

9:00 21:30
9:00 21:20

29.5 30
10 1
17,279m3/

39

6:00 22:00
6,000L. 74

1-80
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&)

1-81

A B
0.5t/h 3 233kW 465kW 151kW 2
1t/h 2 348kW 290kW 233kW 407kW
223,977m3/ 119,900L/ 74,434m3/
365 365 365
24 16 6 22 24

15 15 12 5
3 61

1.2.4
@
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M J/h)

{LEMRICE S
B BEE

b PR e L T Y Vi

B L i i it L L L i i

2 3 4 56 7 B 9 10111213 147516171819 0N 2K M GHE

30

1-83

&)

1-84
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1-85 NO.1 NO.2

1-85
NO.
1 o o >
2 > =< >
3 o o
4 (@)
5 o
6 B o
7 C o <
8
NO.4
NO.8
©)
2 NO.3 6
COs2
1-88
200 300MdJ/h
500 600MdJ/h
1-86
kW/
453 —L/h 364
A 174 21L/h 63,0001/
1-87
4 5 6 7 8 9 10 11 12 1 2 3
A L 7,500 2,500 | 5,000 | 4,000 | 2,500 | 2,500 | 5,000 | 6,500 | 7,500 | 7,500 | 5,000 | 7,500
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900
800 I %
_ 700
S 600 -
= 500
400
300
200 ' — - —
100
0
EEENEEN SR RN N N N N SN N
>
—+—1 3 -®—4 6 7 9 10 12
1-88
200kW 720MdJ/h
1-89 1-90
200kW A 56,700L/
CO2 154t-COq/
A
1-91
1-89
5,300
200kW 55,700
80%
A 85%
24 h/
364 /
8,736 h/
1,778 Gd/
0 100
120 /
12 /kWh
9 It
600 /
60 kL
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1-90

kW 200
MdJ/h 720
Gd/ 1,788
t/ 233
/t 9.0
100 0
/ 0 4,692
/ 2,095 2,095
/ 120 120
/ 419 419
/ 600 600
/ 3,235 7,927
L/ 56,700 56,700
/ 3,402 3,402
/ 3,402 3,402
/ 167 4,525
CO2 t-CO2 / 154 154
3kL/
9 /t
33 50 A 100 kL 100
60 /kL
70
1-91 200kw A
A 33 50 100
50 kL -12.9 /t| -5.8 It -2.8 It 7.3 1t
60 kL -10.4 t| -3.4 /t| -0.4 It 9.7 1t
70 kL -8.0 /t] -0.9 /t 2.1 It 12.2 1t
56,700
80 kL L/ -5.6 1t 1.5 1t 4.5 /t| 14.6 1t
90 /kL -3.1 t| 4.0 t| 6.9 k] 17.0 It
100 /kL -0.7 1t 6.4 /t 9.4 /t] 19.5 /t
110 /kL 1.7 1t 8.8 /t] 11.8 /t | 21.9 /t
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25.0 /t

20.0 /t

15.0 /t

10.0

5.0

0.0

-5.0
-10.0
-15.0

A
—— —-— 33 50 100
1-92 A
400Md/h 6
22 24h
1-93
kW/
1,089 | 108Nm%h | 365 74,434m3/
1-94
4 5 6 7 8 9 10 11 12 1 2 3
m? |13,183|9,189|7,015|5,5639|6,611|6,384 | 2,966 | 3,045 | 1,632 | 2,323 | 2,701 | 13,846
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3,500 1
3,000 -
2,500
2,000 -
1,500
1,000

| \

MJ/h

500 o+ o900+

1-95

200kW 720Md/h

200kW 68,693m3  COs2
123t-COq/

1-98

1-96
5,300
55,700
80%
89%
16 /
365 /
5,840 h/
0 100%
120 /
12 /kWh
75 / m3
9 It
600 /
75 /m3
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1-97

kW 200
MJ/h 720
61,000
t/ 295
/t 9.0
100 0
/ 0 4,692
/ 2,366 2,366
/ 120 120
/ 280 280
/ 600 600
/ 3,866 8,058
m?/ 55,826| 55,826
/ 4,187 4,187
/ 4,187 4,187
/ 821 A3,871
CO2 t-CO2 / 123 123
kg 33 112
/m3 50 100
103 /m3 61 /m3
1-98 200KW
33 50 100
40  /m? 132 /| 62 M| 42 | 47 K
60 /m? -89 /| -20 /| 00 /]| 89 |
80 /m?| 55,826 47 k| 23 | 43 r| 132
100 /m3 m?/ 04 | 65 | 85 | 174 |t
120 /m? 3.8 /| 108 | 128 /| 217
140 /m? 81 t|150 /| 170 /t| 259 /i
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30.0
25.0
20.0
15.0
10.0
5.0
0.0
-5.0
-10.0
-15.0
-20.0

—— —a— 33 50 100

5 3
0.5t/h><2

1-100 A

h/
1t/h>=<2 365 24h 87,502m3/
0.5t/h 180 24h 24,393 m3/
0.5t/h><2 243 16h 112,082m3/

1-101

20,368|17,052|19,682(22,677|21,889|18,223|16,681| 15,924 | 23,204 | 28,766 | 25,756 | 26,231

0.46t/h
1t/h 1t/h

1-102 1-103
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1-102 A

5,000
100,000
75%
87%
16 /
243 /
3,888
6,804 m3/
0 100%
3,000 /
12 /kWh
75 /m3
9 t
800 /
75 /m3
1-103
t/h 1
Md/h 2,256
103,000
t/ 644
t 9.0
100 0
/ 0 7,923
/ 5,794 5,794
/ 3,000 3,000
/ 1,294 1,294
/ 800 800
/ 10,888 18,811
m3/ 100,874 100,874
/ 7,566 7,566
/ 7,566 7,566
/ 3,323 11,246
CO2 t-CO2 223 223
1.3
A 9 /t 100
108 / m3

- 55 -



223t CO2

1-104 A 1t/h
33 50 100
40  /m? 140 /| 99 | 1.8 | -1.6 It
60 /m? 108 /| 68 | -47 M| 15 It
80 /m? | 100,874 77 k| 36 |15 | 46 |t
100  /m3 m? 46 | -05 M| 16 | 7.8
120 /m? 14 K| 26 | 47  R| 109 f
140 /m? 1.7 | 58 | 79 | 140 &
200 /t
150 /t F
100 /t
50 /t
00 /t
5.0 /t
-100  /fp
-15.0  /t
2200 /t
—— = 33 50 100
1-105 A
B
B 4
1-106
1-106 B
KW/
233 27.7L/h
465 53.5L/h
901 Y 365 119,900L/
348 41L/h
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1-107 B
4 5 6 7 8 9 10 11 12 1 2 3
12,800(11,700|5,900|12,300{6,100|11,800|6,260|12,000|12,000|12,000 | 6,200 10,900

6 10

11

1

-108

1-109

55,000
80%
87%

16

300
4,800
1,200

h/
L/

0 100%
3,000

12

75

9

500

/kWh
/KL
It

75

/kL

- B7 -




1-110 B
kW 100
MdJ/h 360
55,000
t/ 92
It 9.0
100 0
) / 0 4,231
/ 824 824
/ 120 120
/ 413 413
/ 500 500
/ 1,857 6,088
L/ 17,417 17,417
/ 1,306 1,306
/ 1,306 1,306
/ 550 4,781
[CO2 t-CO2 43
A
B 200KW
33 50 100
40 /KL -49.9  /t|-346  /t| 268 | 3.7
60 /KL 461 t|-308 | 230 4| 01 A
80 /KL | 17,417 -42.3 | -27.0 | -192 | 39 i
100  /kL L/ 1385 n|-232 | -154 1| 7.7 K
120 /KL 347 t|-194 | -11.6 4| 115 K
140  /kL -30.8 | -156 | -7.7 | 154 |
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©)

20.0 /t
10.0 /t
0.0 /t

-10.0

-20.0

-30.0

-40.0

-50.0

-60.0 /t -
—— —-— 33 50 100

1-112 B
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1-113

100 A 60 /L
9.7 /kg

40

100 60 /m3
8.9 /kg

40
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1-114

1)

2)

1)

1.0 2.5t/h 600

1,670kW

- 61 -

100 500kW




1-115

100 500kW 1|  100kW 55,000 70 /L | 30,600L/ 9 /kg
2| 250kW 63,000 70 /L | 76,500L/ 9 /kg
1.0 2.5t/h 3 1.0t/h 110,000 75 /m3 |165,000m3/ 5 /kg
4|  1.75t/h 150,000 75 /m3 |288,000m3/ 5 /kg
300> 14> 0.7+ 85
4t 10t
1-116
1 2 3 4
t/ 118 295 740 1,296
/ 4,231 4,846 8,462 11,538
/ 1,063 2,658 3,702 6,478
/ 825 945 1,650 2,250
/ 550 630 1,100 1,500
/ 6,669 9,079 14,914 21,766
/ 2,295 5,738 12,375 21,600
/ 4,374 3,341 2,539 166
CcO2 t-CO2/ 71 178 365 636
CcO2 / 61.4 18.8 7.0 0.3
13 =<1.5 ><1
100%
80%
60%
40%
20%
0%
1 2 3 4
O =] O O
1-117
4




1,2
3,4
7 0.3
1.5 1tCO2
1t-CO2

CO2
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1t

CO2

15



®)

1-119
No
10 m?2
1
50L/h
5 m?2
2
3 7.5k
& 10m3
5m?

g 10m?2

. 200kg/h
6 X 2m2

50kg/h
7 D 0.5m?2
1-120
1-121 1-122
1-120
10m?2
50L/h
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1-121

0.3g/m3N O3 6

1-122
40,000m3 350ppm Oz 6
1-123
40,000m?h 2
40,000m?h 2
10ms3/h 2
5m?2
7.5kW
200kW
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1-124

- 66 -

6 8 19 19 23 23
1
2 40 45 40 40
AA
1
2
1
2
45 50 45 45
1
60
55 20 55 50
2
3 60 70 60 55
50m
10m3
10m3
1-125




mm

MPa 750
300
0.1
200
0 05 1.0 3.0 0
mZ
20 35
MPa
0.2
MPa
1.0 0.1
0 5 10 30 m?
1-125
5m?
H5m?2 10m?2
10m?2
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400 600 1,300
mm
0.05MPa
U
4 8 14 m?
10m?2 30m?2



1-126

- 1/
1/
1/
%2 %3 %4
50kg/h
1-127
4,000kg/h 0.1 ng-TEQ/m3N
0.5 m2 2,000kg/h 4,000kg/h 1 ng-TEQ/m3N
50 kg/h 2,000kg/h 5 ng-TEQ/m3N
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1.3

1.3.1

ESCO

K 1-128

69 -




80

150
6%

100
34%

1-129

6%

n 749

10
8%

24%
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1.3.2

50 wb 100 db
80mm

NOX SOX
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1.4

@ | |
B {igﬁ;ﬁi
%% Y £ %%
IO Y I:> % % X X &
i—i— = ;; X
B
" 1-130
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52

11

48

62

1.4.2

@

38

76

76

17

1-131
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17




1-132

@
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52

11

48

62

®

CO2

38

1-133

U

CO2

1-134

U

17

— 76
59
17 17




@

1-135

t/m3

0.64

50

m3/t

4

0.25

38,000,000

10

t/h

7.5

m3/h

30.0

10,000,000

40

12,000,000

6

50

h/

6

9:00 16:00

2

/h

1,500

L/h

22

/L

119

2011

- 76 -

2

6,780 [/t




1-136

- 77 -

( t/ ) 100 200 300 400 500 600 700 800 900 1,000 | 1,100 | 1,200 | 1,300 | 1,400 | 1,500
( ) 400 800 1,200 | 1,600 | 2,000 | 2,400 | 2,800 | 3,200 [ 3,600 [ 4,000 | 4,400 | 4,800 | 5,200 | 5,600 [ 6,000
(D) 156 313 469 625 781 938 1,094 | 1,250 | 1,406 | 1,563 | 1,719 | 1,875 | 2,031 | 2,188 | 2,344
M ) 13 27 40 53 67 80 93 107 120 133 147 160 173 187 200
() |@1 19,000[ 19,000[ 19,000 19,000 19,000 19,000 19,000 19,000] 19,000| 19,000| 19,000f 19,000| 19,000[ 19,000| 19,000]
() ()0-1 10 10 10 10 10 10 10 10 10 10 10, 10 10, 10 10)
( )|@-2 5,000 5,000 5,000 5,000 5,000 5000 5000 5000 5000 5000 5,000 5000 5,000 5000 5,000
) (h)0-2 40| 40 40| 40 40 40| 40 40 40| 40 40 40 40 40 40
() |@3 6,000 6,000 6,000 6,000 6,000 6,000 6,000 6,000 6,000 6,000 6,000 6,000 6,000 6,000 6,000
() (1)0-3 6 6 6 6 6 6 6 6 6 6 6 6 6 6 6
) (b)1 3 5 7 9 12 14 16 18 20 23 25 27 29 32 34|
C ) |02 6| 6 6| 6 6 [§ 6 6 [§ 6 6 6 6 6 6
) (c) 18 30 42 54 72| 84 96 108| 120 138 150 162 174 192 204
C ) |1 180 300 420 540 720 840 960 1,080] 1,200 1,380| 1,500[ 1,620| 1,740| 1,920| 2,040
( )|b-2 720 1,200 1,680] 2,160] 2,880 3,360| 3,840| 4,320] 4,800 5,520 6,000 6,480| 6,960| 7,680| 8,160
() |3 108 180 252 324 432| 504 576 648| 720) 828 900| 972| 1,044| 1,152| 1,224
(d 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5
@ ) (e) 22 22 22 22 22 22 22 22 22 22 22 22 22 22 22
) ( /L) ® 114 114 114 114 114 114 114 114 114 114 114 114 114 114 114
() @) 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2
/) G) 1,500 1,500] 1,500 1,500] 1,500] 1,500 1,500 1,500 1,500[ 1,500] 1,500 1,500] 1,500] 1,500{ 1,500
/1) (llf;f;a)'l‘z'%b)‘ 168,056| 100,833 172,024 56,019 42,014 36,012 31,510 28,009 25,208| 21,920 20,167| 18,673 17,385| 15,755 14,828
/) 1A2A3*(d)/(b)- 168,056| 100,833 172,024 56,019 42,014 36,012 31,510 28,009 25,208| 21,920 20,167| 18,673 17,385 15,755 14,828
/) (@*® 2,508 2,508] 2,508 2,508 2,508 2,508] 2,508| 2,508] 2,508] 2,508] 2,508 2,508] 2,508 2,508| 2,508
/) @*G) 3,000 3,000 3,000 3,000 3,000 3,000 3,000 3000 3000 3000 3,000 3000 3,000 3000 3,000
/) (n) 343,119| 208,675| 151,056| 119,045 91,036 79,032| 70,029| 63,027| 57,425| 50,849| 47,341| 44,354| 41,778| 38,518 36,665
/11; a (0=n)/ 45,749| 27,823| 20,141| 15,873| 12,138] 10,538| 9,337| 8,404| 7,657 6,780 6,312 5,914| 5570 5,136| 4,889
(b)
4t 1




1-137

50% t/ G1 3.8

50% t/ G2 3.4

1 / G3=T4/G1+T4/G2+T6/T5 2.9

G4=G3/T4 0.7

/ G5=N2/G3 2

60% t/ C1 5.0

60% t/ C2 10.0

1 / C3=T4/C1+T4/C2+T6/T5 1.9

1t C4=C3/T4 0.5

/ C5=N2/C3 4

T1 7,000,000

T2 10

T3 0.4

t/ T4 4.0

km/ T5 30.0

km T6 20.0

L/ T7 500.0

/L T8 119

/ T9 100,000

N1 1

1 N2 8.0

2006
1. 10t
2. 9km/L 4,500km/
3. - = N 1
4. 2011 2
3. 10km
1-138
VI (© 100 200 300 400 500 600 700 800 900 | 1,000 | 1,100 | 1,200 | 1,300 | 1,400 | 1,500
. G 149 298 447 595 744 893| 1,042| 1,191 1,340 1,488 1,637 1,786 1,935| 2,084| 2,233
O=(C)+H) 184 352 528 704 880 1,048 1,232| 1,400| 1,576 1,752| 1,928| 2,096 2,272 2,448| 2,624
2)=T2*(1) 1,840 3,520 5,280 7,040 8,800| 10,480 12,320 14,000 15,760 17,520] 19,280 20,960 22,720| 24,480| 26,240
(3)=T1/(2) 3,804 1,989 1,326 994 795 668 568 500 444 400 363 334 308 286 267
(4)=(3)*0.075 285 149 99 75 60 50 43 38 33 30 27 25 23 21 20|
(5)=T9/(1) 543 284 189 142 114 95 81 71 63 57 52 48 44 41 38
©)=(3*T3 1,522 795 530 398 318 267 227 200 178 160 145 134 123 114 107,
(N=T7*T8/(1) 323 169 113 85 68| 57 48 43 38 34 31 28 26 24 23
® 1,500, 1,500| 1,500| 1,500 1,500 1,500 1,500| 1,500/ 1,500 1,500 1,500 1,500| 1,500| 1,500| 1,500
©=3) ® 7,978 4,886 3,758 3,193 2,855 2,637| 2,468| 2,351| 2,256| 2,180 2,118 2,069 2,025 1,987 1,954
WB20 0.43 WB50 0.64
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1,000t 1,590 /t
1,018 /t
1,000t/ 1
1-139
u | 100 200 300 400 500 600 700 800 900 | 1,000 | 1,100 | 1,200 | 1,300 | 1,400 | 1,500
o G 149 298 447 595 744 893 1,042 1,191 1,340 1,488 1,637] 1,786| 1,935| 2,084| 2,233
/__|(A)=CIT4 25 50 75 100 125 150 175 200 225 250 275 300 325 350 375
7 B)=(A)/C5 13 25 38 50 63 75 88 100 113 125 138 150 163 175 188
; (O=(B)/N2 104 200 304 400 504 600 704 800 904 1,000 1,104| 1,200[ 1,304 1,400 1,504
/“ ¢ (D)=C4/(9) 5,816 3,562 2,739 2,328 2,081 1,923 1,799 1,714| 1,645 1,590 1,544 1,508| 1,476| 1,449 1,425
/m;t (B)=(D)/4 1,454 891 685 582 520 481 450 429 411 397 386, 377 369 362 356
/__[®=G/T4 37 74 112 149 186 223 260 298 335 372 409 447 484 521 558
; (G)=(F)/G5 10 19 28| 38 47 56 66 75 84 94 103 112 121 131 140
7 (H)=(G)/N2 80 152 224 304 376 448 528 600 672 752 824 896 968| 1,048 1,120
/“ M Gax©9) | 3,723 2,280 1,754| 1,490 1,332| 1,231 1,152 1,097 1,053 1,018 989 965 945 927 912
1t
/3 @)=m*0.64| 2,383 1,459 1,122 954 853 788 737 702 674 651 633 618 605 593 584
; K=[B)+(G) 35 69 103 138 172 206 241 275 309 344 378 412 446 481 515
©)
500t 1,000t
4,000 /m3
500t/
32,220 /t 1,000t/ 25,656 /t
1-140
/t
500t/ 6,250 12,500 1,332 12,138 32,220
1000t/ 6,250 12,500 1,018 6,780 25,656
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@

1-141

t/m3

0.64

50 WB

m3/h

0.5

h/

8

t/

2.574

50 wb

t/h

0.32

50 wb

720,000

160,000

50

h/

6

9:00 16:00

2

/h

1,500

L/h

22

/L

119

100t

2011

80 -

2

11,201

It




1-142
t 10 20 30 40 50 60 70 80 90 100
h/ 31 62 93 124 155 186 218 249 280 311
()0 880 880 880 880 880 880 880 880 880 880
% (21 50 50 50 50 50 50 50 50 50 50
(2)=(2)0*(100-(2)1)/100 440 440 440 440 440 440 440 440 440 440
(@)2 10 10 10 10 10 10 10 10 10 10,
()1 5 10 16 21 26| 31 36 41 47 52
b)2 6 6 6 6 6 6 6 6 6 6
(b)=b)1*(b)2 31 62 93 124 155 186 218 249 280 311
(©)=(a)2* () 311 622 932 1,243 1,554 1,865 2,176 2,486| 2,797| 3,108
@ 1% 1% 1% 1% 1% 1% 1% 1% 1% 1%
L/ (e) 0.4 0.4 0.4 0.4 0.4 0.4 0.4 0.4 0.4 0.4
) /L ® 113 113 113 113 113 113 113 113 113 113
(€)) 2 2 2 2 2 2 2 2 2 2
/ (h) 1,500  1,500| 1,500| 1,500| 1,500[ 1,500[ 1,500 1,500 1,500 1,500
/ @=@)/(C) 1,416 708 472 354 283 236 202 177 157 142
/ @=(/(C) 3 6 9 12 16 19 22 25 28 31
/ (k) 45 45 45 45 45 45 45 45 45 45|
/ (1) 3,000( 3,000[ 3,000 3,000 3,000 3,000 3,000 3,000 3,000 3,000
/ (m)=(h)+{D+()+(k) 4,464| 3,759 3,526 3,412 3,344 3,300 3,269] 3,247| 3,230| 3,218
/ (n)=120,000/(b) 3,861 1,931 1,287 965 772 644 552 483 429 386
/ (0)=(m)+(n) 8,325 5,690 4,813 4,377 4,116 3,943| 3,821] 3,730 3,659 3,604
/ t | ()=(o)/AF i) 8 il it 25,874 17,684 14,960 13,603| 12,793| 12,256| 11,875 11,592 11,374 11,201
(b)
500t 1,000t
100t/
31,283 [/t
1-143
t
100t/ 6,250 12,500 11,201 29,951
BTL
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BTL

CO H:
Liquid
CO2

Particulate Matter SOx
CxHyOz+02+H20 - CO+CO2+Hz+CaHb

FT nCO+2nH: - -(CH2))n-+nH:20

o e
BTL

FT
FT

BTL Biomass To

SPM Suspended

PR
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2,500

1-144

HP HP

1-145
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1-146

NPO
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1-147
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